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Industrial Revolution Causes and Consequences

The discoveries of Kay in 1733, Hargreaves in 1768,
Arkwright in 1769 and Crompton 1in 1779
revolutionized in various ways the industrial picture
in general and weaving industry in particular. There
was a remarkable impact of scientific discoveries on
transport and communication and agriculture.

The farmers began to apply the discoveries in
agriculture and this led to the rise to the production
of agricultural commodities. The discovery of steam
engine brought about change in the production of
iron. In a word, the series of scientific discoveries
change the industrial scene of several countries of
Europe.

Many people were encouraged to invest in industries
because they felt it highly profitable. Particularly the
landlords sold their agricultural land and invested in
industries. This resulted in the huge production of
industrial goods that was practically unimaginable
before Industrial Revolution. The setting up of new
industries, at the initial stage, required labourers.



The persons engaged 1in the production of
agricultural commodities left villages and thronged
in the cities and centres at which industries were set
up. At the preliminary level there was no problem of
getting jobs 1n industries because there was great
demand of labour.

We all call it Industrial Revolution because the
successive discoveries of instruments practically
changed the industrial picture. This change 1s called
the Industrial Revolution.

If we look at the history and other aspects of
Industrial Revolution we will find that it first
originated in Britain. The pertinent question that
peeps in our mind is that why did it first originate in
Britain?

(1) In sixteenth and seventeenth centuries, it has
been observed, there were tension and instability in
the social and political life of Britain and this
situation prevented the rise and growth of economy
in general and industry 1in particular. Thomas
Hobbes writes in his Leviathan (1651)



